Operations, Word Problems, and
Reasoning Assessment Answer Key

1. B
2. D
3. D
4. C
5. B
6. A
7. B

8. Explanations and examples will vary. Students
should associate times as many with
multiplication and more than with addition.

9. They need 7 cars. Model should depict 6 groups
of 6 plus a group of 3. Explanations will vary. A
seventh car is needed because 39 + 6 = 6 R3.

10. 6 muffins; Model should depict 5 groups of 6

plus a group of 2. Explanations will vary. Two
muffins are left over because 32 + 5 = 6 R2.
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